

Compare Responses

Sourcing Event: 1786

The purpose of this event is to procure an annual contract for ready mix concrete

Number Of Lines: 18

Status: Pending Award

	<p style="text-align: center;">savannah river utilities co james griffin</p> <p style="text-align: center;">(Award All valid only when output is same for all lines)</p> <p style="text-align: center;">396,070.00</p>	<p style="text-align: center;">CUSTOM CONCRETE CONSTRUCTION LINDA SMITH</p> <p style="text-align: center;">(Award All valid only when output is same for all lines)</p> <p style="text-align: center;">239,700.00</p>
<p>Performance Evaluation Score</p> <p>Supplier Total Bid Amount</p> <p>Total Event Score</p> <p>Line 1:Open: Output: Contract</p> <p>Award Quantity 0.0000</p> <p>Line Quantity 560.0000 CY</p> <p>Unit Price</p> <p>Extended Price</p> <p>Total Line Score</p> <p>Delivery Date</p> <p>UOM Detail</p> <p>Vendor Item</p> <p>Vendor Item Description</p>	<p style="text-align: center;">0.0000</p> <p style="text-align: center;">560.0000</p> <p style="text-align: center;">325.00000</p> <p style="text-align: center;">182,000.00</p>	<p style="text-align: center;">0.0000</p> <p style="text-align: center;">560.0000</p> <p style="text-align: center;">180.00000</p> <p style="text-align: center;">100,800.00</p>
<p>Line 2:Open: Output: Contract</p> <p>Award Quantity 0.0000</p> <p>Line Quantity 60.0000 CY</p> <p>Unit Price</p> <p>Extended Price</p> <p>Total Line Score</p> <p>Delivery Date</p> <p>UOM Detail</p> <p>Vendor Item</p>	<p style="text-align: center;">0.0000</p> <p style="text-align: center;">60.0000</p> <p style="text-align: center;">400.00000</p> <p style="text-align: center;">24,000.00</p>	<p style="text-align: center;">0.0000</p> <p style="text-align: center;">60.0000</p> <p style="text-align: center;">130.00000</p> <p style="text-align: center;">7,800.00</p>

Vendor Item Description		
Line 7:Open: Output: Contract Award Quantity 0.0000 Line Quantity 170.0000 CY Unit Price Extended Price Total Line Score Delivery Date UOM Detail Vendor Item Vendor Item Description	0.0000 170.0000 165.00000 28,050.00	0.0000 170.0000 200.00000 34,000.00
Line 8:Open: Output: Contract Award Quantity 0.0000 Line Quantity 60.0000 CY Unit Price Extended Price Total Line Score Delivery Date UOM Detail Vendor Item Vendor Item Description	0.0000 60.0000 170.00000 10,200.00	0.0000 60.0000 150.00000 9,000.00
Line 9:Open: Output: Contract Award Quantity 0.0000 Line Quantity 20.0000 CY Unit Price Extended Price Total Line Score Delivery Date UOM Detail Vendor Item	0.0000 20.0000 200.00000 4,000.00	0.0000 20.0000 150.00000 3,000.00

Vendor Item Description		
Line 10:Open: Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 30.0000 CY	30.0000	30.0000
Unit Price	180.00000	150.00000
Extended Price	5,400.00	4,500.00
Total Line Score		
Delivery Date		
UOM Detail		
Vendor Item		
Vendor Item Description		
Line 11:Open: Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 30.0000 CY	30.0000	30.0000
Unit Price	175.00000	150.00000
Extended Price	5,250.00	4,500.00
Total Line Score		
Delivery Date		
UOM Detail		
Vendor Item		
Vendor Item Description		
Line 13:Open:103856 Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 150.0000 CY	150.0000	150.0000
Unit Price	25.00000	35.00000
Extended Price	3,750.00	5,250.00
Total Line Score		
Delivery Date		
UOM Detail		
Vendor Item	103856	

Vendor Item Description		
Line 14:Open:103857 Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 150.0000 CY	150.0000	150.0000
Unit Price	140.00000	100.00000
Extended Price	21,000.00	15,000.00
Total Line Score		
Delivery Date		
UOM Detail		
Vendor Item	103857	
Vendor Item Description		
Line 15:Open:103858 Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 150.0000 CY	150.0000	150.0000
Unit Price	225.00000	175.00000
Extended Price	33,750.00	26,250.00
Total Line Score		
Delivery Date		
UOM Detail		
Vendor Item	103858	
Vendor Item Description		
Line 16:Open:103859 Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 150.0000 CY	100.0000	100.0000
Unit Price	85.00000	20.00000
Extended Price	8,500.00	2,000.00
Total Line Score		
Delivery Date		
UOM Detail		
Vendor Item	103859	

Vendor Item Description		
Line 20:Open: Output: Contract		
Award Quantity 0.0000	0.0000	0.0000
Line Quantity 2.0000 EA	2.0000	2.0000
Unit Price	1,200.00000	
Extended Price	2,400.00	
Total Line Score		
Delivery Date		
UOM Detail		
Vendor Item		
Vendor Item Description		